R 23F EEREARRE

INPR DR - PR

T

2 ot s =

FERE o sty | ey | FAXE
=2

24 246 204 6 36

KIMFRIXBEARIEL. PREFEFNTF2EARSITHKETS
RETHEEINTVSZHRELD

INER DB B(RTFEH) B A
H B H =
- iEA=E-
it 5 =
375 148 227 70
INERDEERIRES B A
it 5 =

15245 785 386 399
2 817 419 398
3FE 850 428 422
y1=t-3 887 464 423
St 944 445 499
624 918 457 461
& &t 5,201 2,599 2,602

S5 EA

BEH(E 6

18)

SH45R1%

EYRRE 161

£ (H18)

XABEAREHR. FRHXBEFRRERIBLONRTH




R 23F EEREARRE

A DM S

RO
R - - e oo | BRI
n'l' %Et%{f& *Eit%{f& #Eiﬁ‘&
10 99 84 — 15
XTRAZEIRIEE. PREA AR R B AR B HETS
S RETHRBESN TS EHRF LD
R OEEE B(XEE) B A
#H B ¥ o
en 5 x| BARH
209 117 92 36
R DEEREER B A
it 5 8
1504 959 528 431
254 910 451 459
34 924 482 442
& &t 2,793 1,461 1,332
SHEAEANE 4
e (EB)
SH 458K IE
U GER 70
(B18)

MO EANEER. A IEFREFRBIIBE L DRARTEA

hEREE R ORS
BRI R EY
e | BETR | BETR
rpEl | PaLa’ | BERD |—BZD%
a e | A%E
R EEE R E R
970 509 461 505 458 2 - - 2
(02F) B A
ARBERES
MRGRE | MmE |ERUNOE| F-FE
AEE
5E | % | 8 [ % | B[ % |8 %
- - -l 1 : :
HEFEF Bifi: %
BErnErR |0 AR BB
F 3 [ & |8 % | #]8[%
993 99.2| 993 0.2 04 - 0.1 0.2 -




R 23F EEREARRE

BESEOKMAN KHE) 8 A

B ¥ T
= ] % | BR%
311 229 82 64
BEEEROEHESHR Bfi: A
=) &t £ B #l E Bl
&t 5B T F 5B g4 i 5B =
4613 2,304 2309| 4483 2,237 2,246 130 67 63
£ BElDFEEREFES BfT: A TE Bl D2 SE Rl A FE K Bl A
&t 5 g4 it 5 g
1504 1,494 751 743 15248 44 23 21
2 4F 1,512 759 753 2545 38 14 24
IFE 1,477 727 750 3FE 23 16 7
& i 4,483 2,237 2,246 44 25 14 11
& &t 130 67 63
BEEREZEEZORKR
HERRFIZEEER
e BIEFR BIEFR
Zﬁ%%nﬁﬁ ‘Ei% (%Fqg%$§) (_ﬁgﬁ$§)%
= HFE AZEE
it 5 g9 5 g9 2 g3 2 =
1,501 | 792 | 709 | 373| 309| 155| 219 41 23
(D) Bl A
NHEBZERED —REpaFr
wrins | smr | o lsrunon| woore
A =~
% g9 2 g3 2 T % T 5 =
36 -| 153 135 1 2 33 21 - -
HEFESE B %
B 5 g4 it 5 g3 S 5 =
454 | 471 | 436 249| 196 309 192] 193 190




